

Name: Madhuwan Enyinnaya Ejoma

Matr No: A/Sci01/062

Department: Computer Science

1 a-) $y = \sin(3/x^2)$

$$y = \sin 3/x^2$$

$$y = \sin 3x^{-2}$$

$$\text{Let } u = 3x^{-2}$$

$$\Delta y + y = \sin(u + \Delta u)$$

$$\Delta y = \sin(u + \Delta u) - y$$

$$\Delta y = \sin(u + \Delta u) - \sin u$$

$$\text{Recall } \sin A - \sin B = 2 \cos \frac{A+B}{2} \sin \frac{A-B}{2}$$

$$A = u + \Delta u, \quad B = u$$

$$\frac{A+B}{2} = \frac{u + \Delta u + u}{2} = \frac{2u + \Delta u}{2} = u + \frac{\Delta u}{2}$$

$$\frac{A-B}{2} = \frac{u + \Delta u - u}{2} = \frac{\Delta u}{2}$$

$$\text{Hence, } \frac{\Delta y}{\Delta u} = 2 \cos \left(u + \frac{\Delta u}{2} \right) \sin \left(\frac{\Delta u}{2} \right)$$

$\longleftarrow \Delta u \times 1/2$

$$\lim_{\Delta u \rightarrow 0} \frac{\sin(u + \Delta u) - \sin u}{\Delta u}$$

$$\lim_{\Delta u \rightarrow 0} \frac{\left(\frac{\Delta u}{2}\right) / \left(\frac{\Delta u}{2}\right)}{\left(\frac{\Delta u}{2}\right)}$$

$$\frac{dy}{dx} = \cos u \times 1$$

$$\frac{dy}{dx} = \cos u$$

$$\text{At } u = 3/x^2$$

$$\Delta u = \frac{3}{(x + \Delta x)^2}$$

$$\Delta u = \frac{3}{(x + \Delta x)^2} - u$$

$$\Delta u = \frac{3}{(x + \Delta x)^2} - \frac{3}{x^2}$$

$$\Delta u = \frac{3x^2 - 3(x + \Delta x)^2}{x^2 (x + \Delta x)^2}$$

$$\Delta u = \frac{3x^2 - 3(x^2 + 2x\Delta x + (\Delta x)^2)}{x^2 (x + \Delta x)^2}$$

$$\Delta u = \frac{-6x\Delta x - 3(\Delta x)^2}{x^2 (x + \Delta x)^2}$$

$$\frac{\Delta u}{\Delta x} = \frac{-6x \Delta x}{x^2(x+\Delta x)^2} \times \frac{1}{\Delta x} - \frac{3(\Delta x)^2}{x^2+(x+\Delta x)^2} > \frac{1}{\Delta x}$$

$$= \frac{-6x}{x^2(x+\Delta x)^2} - \frac{3\Delta x}{x^2(x+\Delta x)^2}$$

$$\lim_{\Delta x \rightarrow 0} \frac{\Delta u}{\Delta x} = \frac{-6x}{x^2(x+0)^2} - \frac{3(0)}{x^2(x+0)^2}$$

$$\frac{du}{dx} = \frac{-6x}{x^4} = 0$$

$$\frac{du}{dx} = -6x^{-3}$$

$$\frac{dy}{dx} = \frac{du}{dx} \times \frac{dy}{du}$$

$$= -6x^{-3} \times \cos u$$

recall $u = 3/x^2$

$$\frac{dy}{dx} = \frac{-6}{x^3} \times \cos(3/x^2)$$

$$= \frac{-6}{x^3} \cos \frac{3}{x^2}$$

$$1b.) y = 4/x^3$$

$$y + \Delta y = \frac{4}{(\Delta x + x)^3}$$

$$\Delta y = \frac{4}{(\Delta x + x)^3} - y$$

$$\Delta y = \frac{4}{(\Delta x + x)^3} - \frac{4}{x^3}$$

$$\Delta y = \frac{4x^3 - 4(\Delta x + x)^3}{x^3(\Delta x + x)^3}$$

$$\Delta y = \frac{4x^3 - 4[x^3 + 3x^2(\Delta x) + 3x(\Delta x)^2 + (\Delta x)^3]}{x^3[x^3 + 3x^2(\Delta x) + 3x(\Delta x)^2 + (\Delta x)^3]}$$

$$\Delta y = \frac{\cancel{4x^3} - \cancel{4x^3} - 12x^2(\Delta x) - 12x(\Delta x)^2 - 4(\Delta x)^3}{x^3(\Delta x + x)^3}$$

$$\frac{\Delta y}{\Delta x} = \frac{-12x^2(\cancel{\Delta x})}{x^3(\Delta x + x)^3} \times \frac{1}{\Delta x} = \frac{-12x^2(\Delta x)^2}{x^3(\Delta x + x)^3} \times \frac{1}{\Delta x} \times \frac{1}{\Delta x}$$

$$\times \frac{1}{\Delta x}$$

$$\lim_{\Delta x \rightarrow 0} \frac{\Delta y}{\Delta x} = \frac{-12x^2}{x^3(0+x)^3} \quad -0-0$$

$$\begin{aligned} \frac{dy}{dx} &= \frac{-12x^2}{x^6} \\ &= -12x^{-4} \end{aligned}$$

$$2(a) \int \frac{1}{x^2 + 36} dx$$

$$u = x/6 \rightarrow \frac{du}{dx} = 1/6$$

$$dx = 6 du$$

$$= \int \frac{6}{36u^2 + 36} du$$

$$= \frac{1}{6} \int \frac{1}{u^2 + 1} du$$

$$\text{also } \int \frac{1}{u^2 + 1} du = \arctan(u)$$

$$\frac{1}{6} \int \frac{1}{u^2 + 1} du = \frac{\arctan u}{6}$$

$$\text{recall } u = \frac{x}{6}$$

$$\text{Thus } \int \frac{1}{x^2+36} dx = \frac{\arctan\left(\frac{x}{6}\right)}{6} + C$$

$$6) \int \frac{1}{x^2+13} dx$$

$$u = \frac{x}{\sqrt{13}} \rightarrow \frac{du}{dx} = \frac{1}{\sqrt{13}}$$

$$dx = \sqrt{13} du$$

$$= \int \frac{\sqrt{13}}{13u^2+13} du$$

$$= \frac{1}{\sqrt{13}} \int \frac{1}{u^2+1} du$$

$$\text{as } \int \frac{1}{u^2+1} du = \arctan(u)$$

$$\therefore \frac{1}{\sqrt{13}} \int \frac{1}{u^2+1} du = \frac{\arctan(u)}{\sqrt{13}}$$

$$\text{recall } u = \frac{x}{\sqrt{13}}$$

$$\text{Thus } \int \frac{1}{x^2+13} dx = \frac{\arctan\left(\frac{x}{\sqrt{13}}\right)}{\sqrt{13}} + C$$